1 concentration of all of the following molecules directly regulates the activity of
8lycogen synthase EXCEPT:
a. Glucose
b. Glucose-6-phosphate
c. AMP
d. ATP
2) Biotin is important in gluconeogenesis for all of these resons EXCEPT

Its necessary to add CO2 to certain intermediates in this pathway
CO2 becoms one or more of the 6 carbons in the glucose products

Biotin is capable of binding cova!ent!y to CO2
Biotin helps synthesize an 1mportant precu "or f phosphoenolpyruvate

oo oo

3) One of the princi pal sources of NADPH in erythrocytes is:
Conversion of glucose-6-P to Iactate S Ay

a.
b. The conversmn of glucose—6 -P ifito pentose-5-P .
C. : ;
. d.
4)
enzyme 5 .
N : =
b.
c. Trlose phosphate lsomerase
d.

Fructose 6- phosphate :

: §1 The reactlon of fructose 1, 6 blsphosphate to give glyceraldehydes 3- phosphate
and dlhydroxyacetone phosphate is an. example of: L

a. Areverse aldolase condensation : o RS -
b. Hydrolysis e A
c. Oxidation '

d. Dehydration

Pipage
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§) when glycogen synthase is phosphorylated:
a. |t activity decreased
b. s activity increased
C. |ts activity unaffected
d. That enzyme doesn't get phosphorylated

7) Gluconeogenesis differ from glycolysis because:
The irreversible steps of glycolysis are bypassed
Different enzymes are involved _

Biotin is required for gluconeogenesns and not for g!ycolys s -

All of the above

In the Cori cycle:

. Reqmre Coenzyme A o

Requnre‘i'hlamtﬁ‘e pyrophosphate . Hs
R ‘ ¥

g

10) The enzyme fructose 2,6- blsphosphatase and phosphofructokinase-2are present

asa protem dimer, then

a. They are activated togethA
b. Theyare mhlblted together

c. Thefirstis actuvated by phosphorylatlon and the other is inactivated
d. The first is inactivated by phosphorylation and the other is activated

|Page
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‘l)- which of the following statements is CORRECT?
d. | actate is oxidized to pyruvate in skeletal muscle cells
b. Lactate is oxidized to pyruvate in liver cells
C. Lactate is oxidized to pyruvate in citric acid cycle
d. Lactate is oxidized to pyruvate in the electron transport chain

L)_ Which of the following statements is CORRECT?
. Increased concentration of fructose-2,6- -bisphosphate stlmulate glycolysis
b. Increased concentration of fructose- 2,6- -bisphosphate stlmula’ce gluconeogenesis
c. Increased actlwty of fructose-2,6- b;sphosphatase sttmulate cholysss

13)
a. Krebs cycle

b. Gluconeogenesis
c. Glycolysis |
d. Ureacycle, - |

ZGTP 53 2ATP
4GTP + ZtATP
ZGTP + 4ATP%

p.p_c-

|5) Glycogen is malnly found in
Liver and’ muscles
Liver and brain -

Muscle and brain

oo oo

Liver, muscle and brain

7 |Page
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" 6) The enzyme glycogen phosphorylase catalyzes a reaction in:
a. The formation of glycogen from glucose
b. Glycogen breakdown
C. Gluconeogenesis
d. The pentose phosphate pathway

17) Transketolase catalyzes the transfer of a:
2C group to a ketose
2C group to an aldose
3C group to a ketose
3C group to an aldose

Qa0 T o

8)

a. Transketolase

b. Epimerase

c. Transaldolase .

d. Isomerase;_,,:-"'

b

a. %

b. Succmyl -CoA ‘synthetase}}

C. Succmate dehxdrogenase e s
R P,

d. E ﬁgfﬁ |

20) ~'E:One princi;;g‘l SOU(gé'gbf NADPH is
The Bentose phosphé’%e pathway
GIuconeogenes:s
Oxidative phosphorylatlon '
The citric acid cycle: -

o 0 T o
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21) which of the following enzymes found in the mitochondria?

Hexokinase

pyruvate kinase
Glucose-6-phosphatase
pyruvate carboxylase

a o oo

22) Which of the following statements about py’fd\}ate kinase:js TRUE?

its inhibited by fructose-1,6- blsphosphate
lts activated by ATP
lts inhibited by alanine

Its activated by phosphorylatlon

o 0o T o

e

23) Gluconeogenesis is the’”synthesis of:
a. Glucose from non-carbohydrate pre:
b. Glycogen from glucbse
c. Pyruvate from glucose
d. Fatty acudsfrom glucose

24) What kind of enzyme
a. Transketolase o
b. Eplmerase 4

c. Transaldol X
d

(.

. Isomerasex

a. ATP , ;
b. Glucose-6- phosphate
c. AMP

d. Glucose

L IDaoge
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7‘-5-1. The second intermediate formed from glucose in the pentose phosphate pathway
Is:
a. g-phosphogluconate
b. Xylalose-5-phosphate
C. Fructose-6-phosohate
d. Ribulose-5-phosphate

2.7) Which of the following statements regardmg formation of glucose 1-phosphate
from glycogen is NOT CORRECT? o %
a. It triggered by low blood glucose "
b. It requn‘es ATP hydrolysis '

c.
d.

28)

20 oW

2.9)
| One ATP
Two ATP %, e
One ATP and ne GTP
Two GTP

Q O T o

30) Which'bfthe folloifi'\?in”
pathway? |
a. An alternative pathway to glycoly5|s
b. Produce NADPH
c. Produce pentose sugars
d. Generate 2ATP molecules per glucose molecule

ements _is' NOT correct regarding pentose phosphate

£ lPaze
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(' 31 i i
_la. . ):/(\)/':::szf the following enzymes catalyzes a reversible reaction in glycolysis?
b. phosphofructokinase
C. Enolase
d. Pyruvate kinase

32) Increased production of lactate in muscle cells:
Stimulate gluconeogenesis in muscle cells
Stimulate gluconeogenesis in liver cells .~ |

Stimulate glycolysis in muscle cells
Stimulate glycolysis in liver cells

Qa o T o

33)
Glycolysis
Gluconeogenesis |
The pentose phosphate pathway . -
The citric acid cycle

Qo 0 T o

. Pyruvate kinase ..
Pyruvate dehydrogenase

Pyruvate deca rboxylase
Pyruvate carboxylase

o o o

35) Which of the followmg is INCORRECT about gluconeogenesxs?

It occurs only in liver cells
It refers to the synthesis of glucose form small non-carbohydrate precursors

Its stimulated by high concentration of fructose-2 6—b|sphosphate
It occurs in three cellular Iocatlons (cytosol m|tochondria and ER)

Q 0 T o
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‘) 5&,4;,,(7 fom 3lu(ase and UTP a.d ATP, How many Jt
hfal« eneryy Phesphale bonds ae \oroken 4o add glucese

B 3‘9“3”‘ molecule .

a. | c. 3

b- ) 4. 4

3?) /QJ\/an 1"0\865 ‘H’\ﬂ"‘ ﬂl_‘jCaﬁer\ Prav\‘deg Yo musc le Cells

i which 1L Vs stered all e -[-)eua..aizxo Excepl *-

q - ;} 'S ﬂda;"‘able -Igf %a:'clf{ Zwugm neea‘s
b. 1t {'cﬁou:\rc,ﬁ ne eneryy do mclabolize ﬂlMCose Yes 1dues
—g( melaxbol'sm

C. l}—' 7ivcs anaecobic melabolism aboost

1. \} draws more waler inte the <=\\ Ahan ﬂ‘“fose wWould .

3

Scanned by CamScanner



g se

IC 5

g °¢

&_w.o

g "A
s bkT

Qm.ﬂ

wNN

a 1T
¢ Ot
bt otden> bl
g 8
9 t
g 3l

tl »>dwy>

vy S

K S

=

Scanned by CamScanner




